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INEQUALITIES AND MODULUS

Subjective

2x + 3 1

1. Solve < —.
2 +x — 12 2

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rk9ziidtH2ZO

2. Sol ! + ! >1
.Solve —— + —— -

° Watch Video Solution

3.(\/8+2a:—:1:2>6—3a:)

° Watch Video Solution

vV2re — 1
4.Solve, v 5 < 1.
w —_—

° Watch Video Solution



https://dl.doubtnut.com/l/_yFA634nOvuPD
https://dl.doubtnut.com/l/_O8UTEkv7qyMP
https://dl.doubtnut.com/l/_Z4d5g1rBYBkY
https://dl.doubtnut.com/l/_6VlAchAT2ftl

5.Solve, \/x — 6 — /10 — x > 1.

o Watch Video Solution

1 — 21 — 4z — z2
6. Solve, v i > 0.
x +1

° Watch Video Solution

7.Solve |z|* — |z| + 4 = 22 — 3|z| + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_6VlAchAT2ftl
https://dl.doubtnut.com/l/_XRxmLgD28yu3
https://dl.doubtnut.com/l/_uN2sKrei8EeV
https://dl.doubtnut.com/l/_7QR07gUs6p7B

8. Solve the simultaneous

r+ 2| +y=>52z— |y = 1Findx

equations

O Watch Video Solution

9.Solvex — ,/1 — |z| < 0.

o Watch Video Solution

10.Solve |x — 1| — 2| = |z — 3|.

o Watch Video Solution



https://dl.doubtnut.com/l/_7QR07gUs6p7B
https://dl.doubtnut.com/l/_CuAxIGAZbYd3
https://dl.doubtnut.com/l/_b1Irq8JMMHx6

N.Solve: (Jx — 1| —3)( | z+2) —5) <O.

° Watch Video Solution

12. For a, be R prove that

a+¥l el Y
< +
1+]a+b ~— 1+]a] 1+ 3

° Watch Video Solution

Single Correct Answer


https://dl.doubtnut.com/l/_b1Irq8JMMHx6
https://dl.doubtnut.com/l/_gRtAlyeqOxwl
https://dl.doubtnut.com/l/_HAAeDyeaAAGE
https://dl.doubtnut.com/l/_sirzzKxDshqz

1LIf f(z) = ax® + bz +cand f(—1) > —4,
f(1) < 0and f(3) > 5, then the least value of
a is

Al/4

B.1/8

C.1/3

D.—1/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sirzzKxDshqz
https://dl.doubtnut.com/l/_M1yTd2ZajDl8

2. The complete set of values of x for which

23z — 1)%(z + 4)
(z+1)(z — 3)

>0is

A(—oo, —4U(—1,0U(3,00)U{1}

(_007 —4]U(—].,O]U(3,00)U{—1}
C[—4, —1)Ul0,1) U (3, 00)

D.[—4, —1)U[0,1] U (3, 00)

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_M1yTd2ZajDl8

3. The set of all values of x for which

(z + 1)(z — 3)°(z — 5)(z — 4)°(z — 2)

L

<0

A(— o0, —1)U(0,2) U(4,5)
B.(—1,0) U (2, 4) U (5, c0)
C.(—1,0)U(2,3) U(45)

D.(— o0, — 1) U(0,2) UJ3,5)

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_rmlaCAUudvWg
https://dl.doubtnut.com/l/_SugXJDTgWq3f

4.The solution set of inequality

(e —1)(2z — 3)(2® + = + 2) _
(sinz — 2)(z + 1)z

[i)
B.(—o0, —1)U [g,oo)
C.(—1,0)U[g,oo)

D.R — {0, — 1}

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SugXJDTgWq3f

5.The solution set of inequality

1 - 1 ,
S
27 — 1 1_293—1'

A. (1, c0)

B. (0, logy(4/3))
C.(—1,00)

D. (o0, log,(4/3)) U (1, 00)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MmapVrUWMevy
https://dl.doubtnut.com/l/_vq8eM3QblQmw

6. Let A:{w:w2—4m—|—3<0,m€R}
B:{w:21_m+p§O,a:2—2(p+7):1:+5§0}

If BC A,thenp €

C.(—o0,1)

D. [0, 1]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vq8eM3QblQmw
https://dl.doubtnut.com/l/_qCOf8ZUCp63V

7.Let a,b > 0 satisfies a® + b> = a — b. Then

Aal+b =1
B.a?+ab+b <1
Ca>+b >1

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qCOf8ZUCp63V

8. The number of integers satisfying
22 — 3| + |z + 5] < |z — 8]is

A.5

B.6

C.7

D. 8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1fwJXlAnhKP5

9. Which of the following is not the solution of

22 + 5| — | — 3| > |z + 8| ?

A (— oo, —§
B. [3, 00)
C.(—8,3)

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_q9icaCR1Ft3A

10. The number of integral values of «
satisfying the equation |z — |z — 4| | =4is
A.5
B.7
C.9

D. infinite

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QjBYk6c7Mkbz

1. The solution of |2z — 3| < |z + 2| is

A.(—o00,1/3)
B.(1/3,5)
C. (5, 00)

D.(— 00,1/3) U (5, 00)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A0qJJjwt5k36

12. The solution set of the

1 :
——2‘<4,|s
T

A(—o0, —1/2)
B.(1/6, 00)
c.(—1/21/6)

D.( — 00, —1/2) U (1/6,0)

Answer: D

inequation

° Watch Video Solution



https://dl.doubtnut.com/l/_ftKN54dIztuP

1
13.The solution of |z + —| > 2is

T

A.R — {0}

B.R—{—-1,0,1}

C.R— {1}
DR—{—-1,1}
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PVnMDAagIdBJ

14. The solution of the
|z + 2| — |z

V8 — x3

> 0is

Al—1,2
B. [1, 2]
C[-1,1]

D. [0, 3v/4)

Answer: A

inequality

o Watch Video Solution



https://dl.doubtnut.com/l/_IZND2BTLzbAF
https://dl.doubtnut.com/l/_SMhaqtBxRsp0

12z
15. If‘—’ < 1, then
422 4+ 9
Ax e R
B.x € [ — 3, 3]

Czxel|—1,00)

D.z € ( — o0, 2]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SMhaqtBxRsp0

16. Let a,b,c,d be real numbers such that |a-b|=2,

|b-c|=3, |c-d|=4 Then the sum of all possible

values of |a-d|=

A9

B. 18

C.24

D. 30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8kJ3hJfODyXn

17. The number of solutions of the equation
Vit = (@ — 1)+ 3 /(z - 2)? = JBis
A.0
B.1
C.2

D. More than 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_knIchnqN7FRg

18.0f |22 — 2z — 8| + |2® + = — 2| = 3|z + 2|,
then the set of all real values of x is

A (1,4 U{ -2}

B. [1, 4]

C.[—2,1U|[4, )

D.(— oo, — 2 U[L,4]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZxOY0Qmtc5k0

19. The number of integral values of =
satisfying the equation |z — |z — 4| | =4is
A.5
B.4
C.6

D.7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WVIow0wmd53Q

20. The equation
1
2ax — 3| + |ax + 1| + |5 — az| = 3

possesses

A. Infinite number of real solutions for some
a €R

B. finitely many real solutions for some
a € R’

C. no real solutions forsomea € R

D. no real solutions a € R


https://dl.doubtnut.com/l/_gbdZ9NWE6w1m

Answer: D

o View Text Solution

21. The set of values of =z satisfying

2 _ b5z 44
T or ’glis
x2 —4
alo S
5
o ]
B.|—,
| 5
C.[ — o0, — 2]

D.R


https://dl.doubtnut.com/l/_gbdZ9NWE6w1m
https://dl.doubtnut.com/l/_PkxYYkZ1fXAe

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PkxYYkZ1fXAe

